Lecture 4
What is a clause? : daall ala
A complete sentence needs at least one finite, independent clause.
A simple sentence is composed of only one finite clause, so that the structure of a finite
clause is identical with that of a simple sentence.
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Here are some examples of one-clause sentences:
1. I have just telephoned Mohammed.
. He was my best friend.
. This is his photograph.
. At nine o’clock, we all gathered in the classroom.
. He always does his work perfectly.

Lo Lgiad Jadll 4 Jeldl

Each of these one-clause sentences has a subject and a predicate.
The predicate is what is said about the subject.
If either of those two parts, subject or predicate, were missing, the sentence would not be
complete.
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However, in an imperative, the subject is usually unstated. ‘
You ... (e pedd (Sdlaall 8 Ll jalia Jeld 4 () Sl Jay | 3 )S3 a0 Y 33kl Jelal) ¢ Yl dpa &
Sl AL, Jelall sale Aleall ae
e.g. Go study.
When the subject is missing, we assume that it is “you”, the person or persons spoken to.
The previous sentence can be expanded as follows:-
You go study. o 4
oo Sl el caadl = il = Jeldl ) Liagd oS8 jalia Jeld Lgadle + el Ao = 1 5 ,S13a0 Caad

The subject of a clause is a noun phrase. The predicate is a verb phrase.
Every finite clause has the following basic structure:-
NP (subject) + VP (predicate)
The man bought a new car.
noun phrase = NP (subject) " 4ses) das 513 ke " | 4ens dlaall 8 Jeldl
verb phrase = VP (predicate) "4l Jas 53 ke " | aven dlaall 8 as Jsaddll

The Verb Phrase- 4ulzill (3_lall) 4daad)
The verb phrase (VP) consists sometimes of a finite verb only.
e.g. We all waited.
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More often, the VP consists of a group of words (verbal group) with a finite verb as its head.
o For a clause to be finite, there must be a finite verb in it.
o For complete sentence must have finite clause .
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The verb can be either: Simple or Complex

Ldin sl Ty (6 38 Jadll
1. Simple:day
A simple verb consists of one word.
e.g. is, was, walked, sat, did
L5 s A e (5 iy gl Jadll
2. Complex- 3iza
A complex verb consists of a verbal group. _
A0 ANV LS | Alad de sana (5 sing diaall Jadl)
e.g. have telephoned, were placed, were waiting, did not like, could see

Finite vs. Non-finite Verbs: 83 gisa i) JladY) s 3 gasal) Jladd)
Finite Verbs
Finite verbs show tense, person and number.

The verb “be” in the following sentences is an example of a finite verb. A
Lia s 20l ¢ adidll ¢ pe 3 2aag 3aasal) Jlady)

He is here.

They are here. (Lis aa= (aaill 5 a0al) 2aa)

He is here today.

He was here yesterday. (s oS sa= (e 3l 203)

Finite verbs can have three forms: - Ji ¥ L 83 gaaall Jlady)
1. The base form (simple form) of the verb
e.g. walk, talk, drink, speak

2. 3rd person singular form of the verb
e.g. walks, talks, drinks, speaks

Ll g jlaall 81S Jodll S (o ja ddlaly g g Calldll oyl JS
3. The simple past form of the verb

e.g. walked, talked, drank, spoke
Jadll bl Cay yuail) ol aliie S 13 Jadll ED ddlaly | Jaill Japsdl  acalall JS31)

Non-finite verbs — saisa gal) Jlady)

Non-finite verbs do not show tense , person and number .
The verb “come” in the following sentences is an example of
a non-finite verb.
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1- 1 expect him to come soon. (u=s-all 5 el sasy A1)

2- We expect them to come soon. (u=s-ill 5 aasll aasy o)

1- He is coming now. ((s ) 22s &)

2- He was coming at the same time yesterday. (¢ 3 23s Al)

Non-finite verbs can have three forms:JS& ¥ Lgd 8aasa adl Jlady)
1. The infinitive- Jiae diua

a- The infinitive has the same form as the base.

It is often preceded by an infinitive marker “to”.

b- In some cases (e.g. after modal auxiliary verbs) the infinitive is
bare (without “to”).

il ) (Sl JSAN Lgusdi oA 5aY) dapa
TOR s Duadl Jad 42 Lgdu Lle
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For example:
| am waiting for him to come. (&= s xas J28 “t0”)
He can come tomorrow. (s ¢ oxeas J28) “t0”

2. Present Participle (also called —ing participle)
o US| il alall el Jadl) 31385 NG ge Jrdll aladind g4 g
e.g. walking, talking, drinking, speaking

3. Past Participle (also called —ed participle)
Sl QB U griall ands Coyrg Lo gl Callil) Ciy ol aladial 4

e.g. walked, talked, drunk, spoken

Finite vs. Non-finite Clauses
A finite clause is a clause which has a finite verb.

The previous above example has a finite verbal group, “is waiting”.
2 Jad e (g ging (Al H4ISI g dasall 5 6ISH ) Alaal)
GOl g2l g gl Waas | dasa Jad s waiting J=él) (slud) JUa) 3
A non-finite clause is a clause which does not have a finite verb.

does not have a finite verb.
J s2ie ol jigjmwzqmﬁddgsgjﬁ&d\@zqmﬁﬂ\fd@\
¢ At least one clause in an English sentence must be finite.
e Simple sentences consist of one finite clause. ‘
JIY) e saal g saanaalea o (g giat o ang ag bVl A dlea K
S JE) A LS aaaa Jea et adasinl) Jasll
e.g. He is a student.

e Compound and complex sentences consist of two or more clauses with at least one finite
clause.

Al JEall 8 LS Badme dlea JBY) e Waal Jaaae o (5 sind A€ jall 5 dizall Jaall
e.g. He is waiting for the headmaster to come




